Chapter 13. Statistics

Ex. 13.5

Answer 1AA.
Consider the frequency table:

Math SAT Scores | Number of Students

200-300 2

300-400 19
400-500 44
200-600 55
600-700 32

700-800 8




The table 2 that is cumulative frequency table of the data:

Math SAT Scores | Number of Students | Cumulative numbers of students
200-300 2 2

300-400 19 21

400-500 44 65

500-600 0 120

600-700 32 152

700-800 8 160

The column 3 of the table 2 is determined by adding the frequency of that range with the sum
of previous frequencies of the other intervals.

Answer 1CU.
Consider the box-and-whisker plot:
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From the box and whisker plot it can be observed that lowest value is and the highest value
is [50].

The median of the data is” Af =[30].

The 1st quartile is: Q =[10].

The 3rd quartile is- O, =[40]

The inter quartile range is:

0.-0,=40-10
=30
Now

10-1.5(30)=-35 and 10+1.5(30)=55

Since —35<10 and 55> 5(. therefore there is no outliers.



Answer 2CU.

The two histograms are the frequency and cumulative frequencies respectively. The first

histogram says the numbers of students within that category and while the second histogram
says the total numbers of students present up to that category.

Answer 2CU.

In a box-and-whisker plot to determine the scale of the number line first observed the lowest
and greatest value. Then divide the numbers into several classes and determine class width.

For example if the lowest value is 5 and the highest value is 25 then scale the numbers with 5
10, 15, 20, 25. An example of box-and-whisker plot is shown below:

Answer 3AA.

The two histograms are the frequency and cumulative frequencies respectively. The first
histogram says the numbers of students within that category and while the second histogram
says the total numbers of students present up to that category. For displaying the data the

comparing to the first histogram the second is preferable as it displays the numbers of students
in that category as well as the total numbers of students present in that sample of data.

Answer 3CU.

Consider the box-and-whisker plot:
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Here the lowest value is 2 and the highest value is 16. The outlier is 2.

The median of the data is 12 and upper and lower quartiles are 10 and 14 respectively.

Therefore a possible set of data for this plot will be:

2, 8. 10, 10, 11, 12, 12, 13, 14, 15, 1§




Answer 4AA.
It is given that 100% is denoted by 160 and 0% is denoted by O.

Therefore the 50% of the data will denoted by:

50% of 160 =[80]

Similarly the student corresponds to 25% and 75% will be:

25% of 160 =[40]
75% of 160 =

Answer 4CU.
Consider the data:

30, 28,24 24 22 22 21,17,16,15

Arrange the data in ascending order as follows:

15,16, 17, 21,22 22 24 24 28 30

Here the lowest value is 15 and the highest value is 30.
The median of the data is:

22+122
2
=22

The 1st quartile is:
0 =17

The 3rd quartile is:
0, =24

The inter quartile range is:

24-17=7

M=

Now
|?-1.5{?}:5.5 and 24-:-1.5{?]:35.5
Since 5«15 and 355~ 30. therefore there is no outliers.

Therefore the box-and-whisker plot:
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Answer 5CU.
Consider the data:

64, 69, 65, 71, 66, 66, 74, 67, 68, 67

Arrange the data in ascending order as follows:

64, 65, 66, 66, 67, 67, 68,69, 71, 74

Here the lowest value is 64 and the highest value is 74.
The median of the data is:

67467
2
=67

JH

The 1st quartile is:

O, =66
The 3rd quartile is:
0, =69

The inter quartile range is:
69-66=73
Now

66-1.5(3)=61.5 and 69+1.5(3)=73.5

Since §1.5<64 and 74 = 73.5. therefore the outlier is 74.

The the box-and-whisker plot:
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Answer 6CU.
Consider the data:

A 22,18, 22,17, 32 24, 31

.26, 28

B: 28, 30, 45, 23, 24, 32, 30, 27, 27

Arrange the data in ascending order as follows:

AZ17,18, 22,22, 24, 26, 28, 31, 32

B: 23, 24,27, 27, 28, 30, 30, 32, 45

The median of the data is:

M, =24, M, =28

The 1st quartile is:
0,=20,0,=255

The 3rd quartile is:
0y, =295, 0,, =31

The inter quartile range is:

5 =29.5-20
d

ng =31

—-23.5

=95 =3.5

The box-and-whisker plot:
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Answer 7CU.
Consider the data:

A28, 15.5,14,14,24 19, 16.7, 15, 11.4, 16

B: 18, 14, 158, 9, 12, 16, 20, 16, 13, 15

Arrange the data in ascending order as follows:

A8, 11.4,14,14,15,15.5,16,16.7, 19, 24

B: 9, 12,13, 14,15, 15.8, 16, 16, 18, 20

The median of the data is:

M, =15.25, M, =15.4




The 1st quartile is:
Q,=14.0, =13

The 3rd quartile is:

0, =167, 0, =16

The inter quartile range Is:

rn=167-14 and i =16-13
=2.7 =3

The box-and-whisker plot:
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Answer SAA.
There are 45 data in the data set.

Taking interval width 2 prepares a cumulative distribution table as follows:

Class interval (Ib) | Frequency | Cumulative frequency

2-4 1 1
4-6 ] 6
6-8 23 29
8-10 14 43

10-12 2 45




Answer S8CU.
Consider the data:

51397, 5693, 3675, 620, £573, §559, $524, $472, 53467, 5452
The median of the data is:

$573+8559
2
= 5566

M=

The 1st quartile is:

0, =5%472

The 3rd quartile is:

0, =%678

The inter quartile range is:

r=%678-%472

=$206

MNow

$472-51.5(206)=5$163 and $678+51.5(206)=$987.
Therefore 51397 is outlier.

The box-and-whisker plot:
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Answer 9AA.
There are 45 data in the data set.

Taking interval width 2 prepares a cumulative distribution table as follows:

Class interval (Ib) | Frequency | Cumulative frequency
2-4 1 1
4-6 ] 6
6-8 23 29
8-10 14 43
10-12 2 ]

The cumulative frequency histogram for the data will be:
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Answer 9CU.
Consider the data:

51397, 5693, B6TE, $620. 5573, §559 %524 %472 5467 5452
The median of the data is:

$573+ 8559
2
=$566

M=

The 1st quartile is:

0, =5%472

The 3rd quartile is:

g0, =5%678

The inter quartile range is:

r=5%678-5%472
=$206

MNow
$472-81.5(206) =$163 and $678+$1.5(206) = $987.

Therefore $13397 is outlier.

The box-and-whisker plot:
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Here the most data are spread fairly evenly from $450 million to $700 million. The only outlier
in the plot is $1397.



Answer 10AA.

There are 45 data in the data set.

Taking interval width 2 prepares a cumulative distribution table as follows:

Class interval (Ib) | Frequency | Cumulative frequency
2-4 1 1

4-6 5 6

6-8 23 29

8-10 14 43

10-12 2 45

The cumulative frequency histogram for the data will be:
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The 80th percentile of the data will be:

80% of 45=36

7 B-10 4 10-12

Intereal

Thus 36 students are below the 80th percentile.

Hence the weight for a baby in the 80th percentile is:

81b—101b|-

J



Answer 10PA.
Consider the box-and-whisker plot:
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From the box and whisker plot it can be observed that lowest value is 85 and the highest value
is 130.

Therefore the range of the data is. 130-85= .

Answer 11PA.
Consider the box-and-whisker plot:
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From the box and whisker plot it can be observed that the first quartile is 90 and the third
quartile is 120.

Therefore the inter quartile range of the data is. 120-90 =.

Answer 12PA.
Consider the box-and-whisker plot:
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From the box and whisker plot it can be observed that the first quartile is 90.

Therefore the percent of the data is less than 90 is 25% or 2 1

100 |4



Answer 13PA.
Consider the box-and-whisker plot:
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From the box and whisker plot it can be observed that the median of the data is 95.

Therefore the percent of the data is greater than 95 is 50% or Ak W

100 |2
Answer 14PA.
Consider the data:
15.8,10,1,3,2,.6,5, 4, 27,1
Arrange the data in ascending order as follows:
1,1.2,3, 4,5, 6,8, 10, 15, 27
Here the lowest value is 1 and the highest value is 27.

The median of the data is:

M=5
The 1st quartile is:
0 =2
The 3rd quartile is:
0, =10
The inter quartile range is:
10-2=8

The outliers are:
E-I.S{E}z -10 and ID+1.5{E}= 22
Since —]( is not a value of the data set, therefore the only outlier is 27.

Therefore the box-and-whisker plot:
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Answer 15PA.
Consider the data:

20,2,12,5,4,16,17,7.6,16, 5,0, 5, 30
Arrange the data in ascending order as follows:

0,2,4,5 95 9,6,7,12,16, 16, 17, 20, 30

Here the lowest value is 0 and the highest value is 30.

The median of the data is:

=6+?
2
=6.5

The 1st quartile is:
Q=5

The 3rd quartile is:
O, =16

JH

27 23 25 327



The inter quartile range is:
16-5=11
The outliers are:
5-1.5(11)=-11.5 and 16+1.5(11)=32.5
Since —11.5<0 and 32.5> 3. therefore there is not outlier.

Therefore the box-and-whisker plot:
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Answer 16PA.
Consider the data:

4,1,1,1,10,15,4,5,27,5,14,10,6,2, 2,5, 8

&

Arrange the data in ascending order as follows:
1,1,1,2, 2,4, 4,5,5,5,6,8 10,10, 14,15, 27
Here the lowest value is 1 and the highest value is 27.
The median of the data is:

M=5
The 1st quartile is:

_2+2
2
=2
The 3rd quartile is:

_10+10
2
=10

o

o



The inter quartile range is:
O -0 =10-2
=8
The outliers are:
2-1.5(8)=-6 and 10+1.5(8)=22
Since —g<«1 and 22 <« 27, therefore the only outlier is 27.

Therefore the box-and-whisker plot:

Answer 17PA.
Consider the data:

51, 27, 55, 54, 69, 60, 39, 46, 46, 53, 81, 23
Arrange the data in ascending order as follows:
23, 27,39, 46, 46, 51, 53, 54, 55, 60, 69, 81
The median of the data is:

51453

2
=52

M =



The 1st quartile is:
39+ 46
g
=425
The 3rd quartile is:
_ 55+60

2
=373

The inter quartile range is:
r=575-425
=15

Mow

&

42.5-1.5(15)=20 and 57.5+1.5(15)=80.

Therefore 81 is outlier.

The box-and-whisker plot:
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Answer 18PA.
Consider the data:

15.1,90,85,56,6.2,85, 105, 1.5, 886,76
Arrange the data in ascending order as follows:
58,62, 76,85,85,88,9.0,10.5, 1.5, 151
The median of the data is:

8.5+8.8
T 3

=8.65

M



The 1st quartile is:
0 =76
The 3rd quartile is:
@, =105
The inter quartile range is:
r=105=-17.6
=29
Now

7.6-1.5(2.9)=3.25 and 10.5+1.5(2.9)=14.85.

Therefore 15.1 is outlier.

The box-and-whisker plot:

Answer 19PA.
Consider the data:

13,1214 18,16, 57, 13,37,33,2,13.13, 77,85 22
Arrange the data in ascending order as follows:

1.2,13,13,13,13,16,16,2,22,33,37,57,77,835,14

The median of the data is:

M=2



The 1st quartile is:

Q=13
The 3rd guartile is:

Q=357
The inter quartile range is:

r=57-1.3

=44

Now

1.3-1.5(4.4)=-5.3 and 5.7+1.5(4.4)=12.3.
Therefore 14 is outlier.

The box-and-whisker plot:
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Answer 20PA.
Consider the box-and-whisker plot:
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From the box-and-whisker plot it can be verified that the data set A has the least value 25 and
the data set B has the least value 20.

Therefore [the data set B has the least valug|




Answer 21PA.
Consider the box-and-whisker plot:
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From the box-and-whisker plot it can be verified that the data set A has the highest value 65
and the data set B has the highest value 70.

Therefore [the data set B has the greatest valug|

Answer 22PA.
Consider the box-and-whisker plot:
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From the box-and-whisker plot it can be verified that the inter quartile range of the data set A
57 60-30=30
The inter quartile range of the data set Bis: a0 —40=2(.

Therefore [the data set A has the greatest inter quartile range|

Answer 23PA.
Consider the box-and-whisker plot:
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From the box-and-whisker plot it can be verified that the range of the data set A is:
65-25=40.
The range of the datasetBis: 70-20=50.

Therefore [the data set B has the greatest range|




Answer 24PA.
Consider the data:

AZ15, 17, 22, 28, 32, 40, 16, 24, 26, 38, 19

B: 24 32 25 27, 37, 29 30,30, 28 31,27
Arrange the data in ascending order as follows:
A15, 16, 17,19, 22 24 26 28, 32, 38, 40

B: 24, 25,27, 27, 28,29, 30, 30, 31, 32, 37
The median of the data is:

M, =24, M, =29

The 1st quartile is:

The 3rd quartile is:
0, =32, 0,, =31
The inter quartile range is:
n=32-17 . r,=31-27
=15 =4

The box-and-whisker plot:
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Answer 25PA.
Consider the data:

A 30, 45, 47, 55, 51, 58, 49, 51, 51, 48, 47
B: 40, 41, 48, 39, 41, 41, 38, 37, 35, 37, 45
Arrange the data in ascending order as follows:

A2 45, 47,47, 48, 49, 50, 531, 51, 31, 35, 58

on

B: 35, 37, 37, 38, 33, 40, 41, 41, 41, 45, 48
The median of the data is:

M, =50, M, =40

14 18 22 26 30 34 38 42 46 =



Answer 26PA.
Consider the data:

A15,38,42 35,41,44,41,40,40,3.9
B:68,42 76,55, 122, 6.7,71,48
Arrange the data in ascending order as follows:
A15,35,38,39, 40,40, 41,41, 42,44
B-42 48,565,67,68 71,76,12.2

The median of the data is:

M, =4.0, M, =6.75

The 1st quartile is:
0,=380,=515

The 3rd quartile is:

0, =410,=735

The inter quartile range is:
n=41-3.8 and 2 =7.35-5.15

=13 =22
The box-and-whisker plot:
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Answer 27PA.
Consider the data:

Ad4 .45 46,45,44, 44 41,49 29
B:5.1,49,42,39,45,41,43,45,52

Arrange the data in ascending order as follows:

A29,41,44, 44, 44 45,45,46,49
B:39,41,42 43,45,45,493,51,52
The median of the data is:

M, =44, M,=45




The 1st quartile is:
0,=4250,=415
The 3rd quartile is:
0, =455 0,,=5.0
The inter quartile range is:
rn=455-4.25 and 2 =5.0-4.15
=0.3 =0.85
The box-and-whisker plot:
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Answer 28PA.
Consider the data:

17,10, 55,45 45,4, 35,35

Arrange the data in ascending order as follows:
35,35 4,45 445 55 10,17

The median of the data is:

J!i‘f = 415



The 1st quartile is:

0 =375

The 3rd quartile is:

0,=175

The inter quartile range is: 7.75-3.75=4.

MNow

3.75-1.5(4)=-2.25 and 7.75+1.5(4)=13.75.

Hence 17 is the outlier of the data.

The box-and-whisker plot:
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Answer 29PA.

Consider the data:

17,10,5.5,4.5,45, 4,355,355

Arrange the data in ascending order as follows:

3.5,3.9,4,45,45,55,10,17

The median of the data is:

M=45

>



The 1st quartile is:

0, =375

The 3rd quartile is:

0,=1775

The inter quartile range is: 7.75-3.75=4.

Mow

3.75-1.5(4)=-2.25 and ?.?5+I.5{4}=13.?5.
Hence 17 is the outlier of the data.

The box-and-whisker plot:
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Observing the plot it can be said that the upper half of the data is very dispersed while the
range of the lower half of the data is only 1.

Answer 30PA.

Consider the data:

5181, 5100, £98, 589, 576, 558, 560, §58, 555, §57, £54, 564, 544, 539, 566, §52, 552, 556,
£38, §56, $51, 549 538, 550, $48, $48, 540, $36, $36, $39, 536, 547, 536, $47, $38, £35,
$46, $35, $55, $45, 543, $35

Arrange the data in ascending order as follows:

$35, $35, $35, $36, $36, 536, $36, 538, 538, §38, §39, 539, 540, 543, 544, 545, 546, 547,
$47, 548, 548, 549, §50, $51, $52, 552, $54, 555, §55, $56, $56, 557, 558, 558, 560, 564,
366, 576, $89, 598, 5100, $181

The median of the data is:

48+ 49

2
=48.5

M=




The 1st quartile is:

0, =39
The 3rd quartile is:
g, =57

The inter quartile range is: §7-39=18.

Now

39—I.S{IS}=I2 and 5?+I.5[EE}=E4.

Hence 83, 98, 100 and 181 are the outlier of the data.

The box-and-whisker plot:
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Answer 31PA.
Consider the data:

$181, 3100, $98, $89, $76, 558, $60, 538, 55, 537, 354, 364, b44, $39, 66, $52, $52, 356,
538, 356, 51, 49, $38, $50, $48, $48, 540, 536, 336, $39, §36, 347, 536, 547, 538, 335,
546, 335, $595, 549, $43, $35

Arrange the data in ascending order as follows:

535, 535, 535, $36, $3b, $3b, $3b, 5386, 386, $38, 339, $39, 340, 543, 544, 545, 546, 347,
547, 548, 548, $49, $50, $51, $52, $52, 554, $55, $55, $56, $56, $57, 558, 558, 560, 364,
366, 376, 389, 398, 5100, 3181

The median of the data is:

48 +49
2
=48.5

M =



The 1st quartile is:

Q=39

The 3rd quartile is:

0, =57

The inter quartile range is: 57-39=18%.

Now

39-1.5(18)=12 and 57+1.5(18)=84

Hence 89, 98, 100 and 181 are the outlier of the data.

The box-and-whisker plot:
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The bottom half of the data goes from $35,000 to 548,000 and the top half of the data goes
from $48,000 to $141,000. Therefore the of the data is more dispersed.

Answer 32PA.
Consider the box and whisker plot:
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Observing the data it can be said that the lowest value is 38 and the highest value is 80.
Therefore the range of the data is:

80 -38 =[42]

Again the lower quartile is: {), =53 and the upper quartile is: ), =74.

Thus the inter quartile range is:

0,-0 =74-53
=[21



Answer 33PA.
Consider the box and whisker plot:
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Observing the data it can be said that the lower half of the data contain ages from 38 to 70 and
the upper half of the data contains ages from 70 to 80. Hence the lower half is more dispersed.

Answer 34PA.
Consider the box and whisker plot:

l
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Observing the data it can be said that the lower half of the data contain ages from 38 to 70 and

the upper half of the data contains ages from 70 to 80. Again the data that contain half of the
data is 54 to 74.

Hence the three intervals will be: [38-70,54-74 and 70-80

Answer 35PA.
Consider the box and whisker plot:
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Observing the data it can be said that in the age group 54 to 70 there are 25% data and in the
age group 70 to 74 there are also 25% data. Since both groups contain the same amount of
data, therefore Jamie is not right.



Answer 36PA.
Consider the data:

253, 223, 193, 189, 152, 150, 138, 137, 135, 121, 131, 129, 128, 126, 124, 115, 118, 108, 107,
102, 101, 100, 36, 92, 87, 83, 82, 81,80, 78, 78,76, 74, 74,73, 73, 72, 71, 69, 68, 67, 63, 64,
63, 63, 63, 62, 61, 61, 61

The median of the data is:

87+83
2
=85
The lower quartile is:
g =7l

The upper quartile is:
0, =128

M=

The inter quartile range is:

0, -0, =128-71
=47

Now
TI—1.5{4T]=D.5 and I23+1.5(4?}=193.5
Hence 253 and 223 are outliers.

The box-and-whisker plot of the data will be:
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Answer 37PA.
Consider the data:

253, 223,193, 189, 152, 150, 138, 137, 135, 131, 131,129,128, 126, 124, 119, 118, 108, 107,
102, 101, 100, 96, 92, 87, 83,82, 81,80, 78,78, 76, 74,74, 73, 73,72, 71, 69, 68, 67, 65, 64,
63, 63, 63, 62, 61, 61, 61

To draw the histogram of the data first make a table as follows:



Interval | Tally Frequency

61-80 | W 0 M Ml 1|22

81-100 | || 7

101-120 | Jjf| 6

121-140 | J( |l g

141-160 | || 2
161-180 | | 1
181-200 | || 2
201-220 | - 0
221-240 | | 1

240-260 | | 1
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Therefore the histogram of the data can be made as follows:

Answer 38PA.



Consider the box and whisker plot of the data:
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Consider the histogram of the data:
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Observing the two plots there are various conclusion that can be derived from the data. From
the box and whisker plot one can easily determine median, range and dispersion of the data
while observing the histogram one can't determine the median or range but density of the data
and numbers of data value that is present in the data set.



Answer 39PA.
Consider the box and whisker plot:

—1 !
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Observing the data it can be said that lowest value is 40, highest value is 90. The lower quartile
is 50, the upper quartile is 90. The median of the data is 60.

Therefore the possible data that represent the plot will be:

40, 45,50, 52, 57,60, 67, 74, 90, 90. 90|

Answer 40PA.
Consider the data:

40, 45, 50, 52, 57, 60, 67, 74, 90, 50, 90

Observing the data it can be said that lowest value is 40, highest value is 90. The lower quartile
is 50, the upper quartile is 90. The median of the data is 60.

The box and whisker plot:

111
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In a newspaper it is found that the sale of computers in a shop in one week
25,43, 27, 31, 35, 28, 43
Arrange the data in ascending order as follows:
25, 27,28, 31, 35,43, 43
The median of the data is: M =31
The lower quartile is: @, =27.
The upper quartile is: @, =43
The inter quartile range: 43-27=16-
Now
27-1.5(16)=3 and 43+1.5(16)=67
Thus there is no outlier.

The box and whisker plot of the data is:
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Answer 41PA.
Consider the box-and-whisker plot:
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From the box and whisker plot of the data it can be verified that the median of the data is: 25.

Hence the correct option is: [[C)]



Answer 42PA.
Consider the box-and-whisker plot:

— 1}
1
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From the box and whisker plot of the data it can be verified that in between 0 to 45 there are
75% data value. The lowest value of the data is 0 and 3rd quartile is 45. Since the under third
quartile is 75% of data, therefore the correct option is: @

Answer 43MYS.
Consider the data:

13, 32, 45, 45, 54, 55, 67, 82, 93

Here the lowest value is 13 and the highest value is 93.

The range of the data is: 93-13 =[g0]-
The median of the data is: s =[54].

The lower quartile is:

_32+45
2
=38.5

The upper quartile is:
~ 67+82

2
=745

The inter gquartile range is:
0,-0 =74.5-38.5
=36

&

g,

MNow

33.5—1.5(36}:-]5.5 and ?4.5+I.5[36}=IEE.5

Since —155<13 and 128.5 =93, therefore there is no outliers.



Answer 44MYS.
Consider the data:

13, 32, 45, 45, 54, 55, 67, 82, 93
Here the lowest value is 13 and the highest value is 93.

Now taking a class width of 20 a frequency table can be prepared as:

Intervals Tally | Frequency
1<5<20 | 1
21<s<40 | | 1
41<s<60 | I |4
61<s <80 | | 1
8l<s<100| | |2

Using the frequency table a histogram can be drawn as follows:
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Answer 45MYS.
Consider the expression:

3
y=3 y+4

To simplify the expression follows the steps:

3y 23(_p+4]—y[y—3)
y=3 y+4  (y-3)(y+4)
_3y+12-y" +3y
C(r-3)(r+4)

st
_|= +6y+12 Simplify

(y-3)(y+4)

Answer 46MYS.
Consider the expression:

2 3
+

r+3 r-=2

To simplify the expression follows the steps:

2 3 2(r-2)+3(r+3)

r+3+r—2 (r+3)(r-2)

_2r—4+3r+9
(r+3][r—2:}
5 1
= (r+1) Simplify
(y-3)(r+4)
Answer 47MYS.
Consider the expression:
W 4
Sw+2 15w+6
To simplify the expression follows the steps:
W 4 oW 4
Sw+2 15w+6 Sw+2 3[5w+1}
_ w:3-4
3[5w+1}
3w-4 L.
=|——| Simpli
(wez)| P




Answer 48MYS.
Consider the expression:

74 15
5 l4a

To simplify the expression follows the steps:

10t 15 Fad W
5 140 £ M, 4
3a

=[|— Simpli
> implity

Answer 49MYS.
Consider the expression:

6r+3 _r1 +9r+18
r+6 2r+1

To simplify the expression follows the steps:

6r+3 rP+9r+18 _3(r+1) (r+3)(z+6)
F+6  2r+l 6 2r +1

_ 3(r+1)(r+3) Simplify
2r+1




Answer 50MYS.
Consider the right triangle:

A

H

& B

Since ABC is a right triangle with measure of Cis

90° —42° =|48°|-
Mow
sin 42° ol
AB
BC = ABsin42’
=22x0.669 in
=
Again
cos42" =£
AR
AC = ABcos42"
=22%0.743 in

AC=[16.31n

90"

. therefore measure of the angle B is:



Answer 51MYS.
Consider the right triangle:

B

39
A 12 m C

Since ABC is a right triangle with measure of Cis

90" -39" =|51"|-
MNow
cos 39" _4c
AR
ag=-A€
cos 39"
12
= m
0.777
AB=|154m
Again
sin 39" s
AR
BC = ABsin 39’
=15.4x0.629 m

=[9.7 m|

90"

. therefore measure of the angle B is:



Answer 52MYS.
Consider the right triangle:

B

H

C 15 fi

A

, therefore measure of the angle A is:

since ABC is a right triangle with measure of Cis |gp®

90" — 46" = |44"|
Mow
sindgh=25
AB
S AC
sin 46"
15
0.719
AB =209 ft
Again
cos 46" A%
AB
BC = ABcos 46"
=20.9x%0.694 f

BC=[14.5 i



Answer 53MYS.
Consider the equation:
a-Ta+6=0
To solve the equation follows the steps:
a—-Ta+6=0
a —6a-a+6=0
ala-6)-1(a-6)=0
(a=6)(a-1)=0
a—-6=10 or a—-1=0

a=06 or fa=1

Therefore the solution to the equation is: |{1,6}|.

Answer 54MYS.
Consider the equation:

X —6x+2=0

To solve the equation follows the steps:

X —-6x+2=0

6+ 27

2
=317
=3+2.6

X=5.6,0.4

Therefore the solution to the equation is: {5.6,0.4} .




Answer 55MYS.
Consider the equation:
1 +8-18=0
To solve the equation follows the steps:
£ +8-18=0
8+,/8° —4.1:(~18)
- 2:1

_-8+4136

2
_—8+2\34
2

!

=—4+.34
=-4+58
=1.8,-9.8

Therefore the solution to the equation is: |{1.8,-9.8}|.

Answer 56MYS.
Consider the expression:

(Tp‘j' - p—?)—l:pz +1 I]
To simplify the expression follows the steps:
(79 -p-7)-(p*+11)=7p* - p-7-p* -11

=(7p° —pz)— p—(7+11)  Combining the like terms

6p° —p—18 Simplify

Answer 57MYS.
Consider the expression:

(3a-*’ -3]+(5=ml +Ea+?)
To simplify the expression follows the steps:
(3a-’- —s]+(5a“ +2a+?)=3a“ —8+5a4* +2a+7

= (Sa:’ +5a2} +2a+(7-8) Combining the like terms

=(8a’ +2a-1 Simplify




